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Question Number : 1 Question Id : 4387194801 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Options :
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Question Number : 2 Question Id : 4387194802 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Options :



Question Number : 3 Question Id : 4387194803 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

A= [_24 _13] then (AT)” +(124)" =

_[2 —3 AT A1 AN =
A [_ ; 1]503;@‘ (AT)® +(124)
Options :
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Question Number : 4 Question Id : 4387194804 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



- sth oth 1 ,th - - :
If a. b. ¢ are respectively the 57. 87, 13" terms of an arithmetic progression. then

g 5

b 8 1|-=

¢ 13 1
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Options :

1.« 0

2. % 1
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3. %
4‘23?'}20

Question Number : 5 Question Id : 4387194805 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Question Number : 6 Question Id : 4387194806 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

N T |
LetA=|x 1 1 | Iftheroots ofthe equation det A=0 are [, m then
g 3 =1
B—-—m®=
—a X 3
A=|x 1 1| o0emo. det A = 0 ©d HSCE0 A0E), DT
Z 3 =1
[,mescnad I —m? =
Options :
1 ® 33
). % =35
3.¢ X
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Question Number : 7 Question Id : 4387194807 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



Multiplicative inverse of the complex number (sin6. cos0) 1s
::aoég 20083 (sinf. cosB)cIng), M DeS*Bodw

Options :

| % (+ sinB. +cosB)

- (sinf. - cost)

_ (cos 8. - s110)

(-cos B. sinB)
4. %

Question Number : 8 Question Id : 4387194808 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Options :
1.# 0

2. % -4

4. 1

Question Number : 9 Question Id : 4387194809 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0



A true statement among the following identities is

806 AERITOIVS” w8 RS DA

Options :

- sin50 = 16 cos'0 sind - 12 cos’0 sind + sind

5 % sin56 = 16 cos'd - 12 cos’8 + 1

_ sin50 = 16 cos’® sinf + 12 cos’0 sind - sinb

4% 5in50 = 16 cos'O <inB + 12 cos 8 sind + sind

Question Number : 10 Question Id : 4387194810 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

s e =, cos(nd)
If e' = cis 8 then Z—ﬁn =

n=0 v

: = &
e = rig B eop0Ed Zm:
2?‘?

n=0
Options :

(4+ 2 cosﬂ)/
(B

4 cosB)
1. ®

(4 — 2 cos@)
o /(5 + 4 cos8)

2. %
(4 —2 Cosﬁj/
- (5 — 4 cosB)



(4+2 cas{ij/
% (5 + 4 cosB)

Question Number : 11 Question Id : 4387194811 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If £(f(0)) = 0. where f(x) =x"+ax +b.b=0thena+b=

b=0, fx)=x"+ax+b & f(f(0)) =0 oS a+b=
Options :

1.3";“;2

Question Number : 12 Question Id : 4387194812 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The sum of the real roots of the equation |[x — 2|2 +|x — 2] -2 =01s
AAE6e0 |x — 2|2 + [x — 2| — 2 = 0 W), TRD Arere 2wdo
Options :

v 4

2 x4



Question Number : 13 Question Id : 4387194813 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the difference between the roots of x +ax+b=0 and that of the roots of x°+bx+a=0
15 same and a#b. then

x*+ax+b=0 Bwg) Jurere 20655 B0 2O x+hx+a=0 wE), Lorere 206
HrDS DATHAL Hbain a#b eond

Options :
| % ab-4=0

Question Number : 14 Question Id : 4387194814 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

For what values of aEZ. the quadratic expression (x+a) (x+1991)+1 can be factorised
as (x+b) (x+c). where b.cEZ?

(x+a) (x+1991)+1 20 RO (x+b) (xtc), beEZ ) Froforrecs a€ Z
QLVITD?

Options :
| % 1990

) 1989



5 % 1991

4 % 1992

Question Number : 15 Question Id : 4387194815 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If a set A has m— elements and the set B has n—elements. then the number of
mjections from A to B is

A 0D DBS” Mm— rosten, B ©0d DS n— ooresten ol A fAvod B &
Gol DS P2VOITV Roadg

Options :

H i,
) Cm it n=m
1. #

n :
Pm if n=m
2.¢

; % 0ifn=m

H(‘T .
o M S if n=m
4,

Question Number : 16 Question Id : 4387194816 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Iin how many ways can the letters of the word “MULTIPLE” be arranged keeping the

position of the vowels fixed?
"MULTIPLE” 03 262000 0£520000, Few oo a6 et O

QTR0 €93205~ S8y

Options :
| = 60

5 360
5 % 600

4 % 300

Question Number : 17 Question Id : 4387194817 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The least value of n so that {”_QCJ‘ + (”_1}{.“4 "C3
G- e, 2™, el n Bs), £ Ded

Options :

Question Number : 18 Question Id : 4387194818 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0
A natural number n such that n! ends in exactly 1000 zeros 1s

n! BE), DYGe” 1000 WD) OE Wodahy 28 W2 Doy 1

Options :
| % 4010

, % 4000
5 o 4009

, = 4004

Question Number : 19 Question Id : 4387194819 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

13x+43 A B 2 2
= + — then A™+B~ =
2x2417x4+30 2x4+5  x¥6
13x+43 A

B 7 )
= +— es003, A+B =
2x2417x+30 2x45 x+6

4 % 18/5

Question Number : 20 Question Id : 4387194820 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



HA+B+C=m.cos B=cos A cos C.thentan AtanC =

A+B+C= m 206ac30 cos B=cos A cos C e9003, tan A tan C =
Options :
. % 0

2.331

3.¢

Question Number : 21 Question Id : 4387194821 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

-~

i/ A B £ '1
tan—tan—tan— | =
| 2, o) 2

\ e s FE

In a triangle ABC.

i
{ A B Y
ABC @zaio &, | tan —tan—tan— | <
Options :
1
L 27
1
T



r,)_lll—l

Question Number : 22 Question Id : 4387194822 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :

N.A Think Time : N.A Minimum Instruction Time : 0
The value of tan| f |
| & |

b
T

is

ran‘; A ) camsb M3 b 0e)
L § )

Options :
. 42 -1
1. %
L= 2
2.9
1442
3. %
1
A2
4, %

Question Number : 23 Question Id : 4387194823 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

2 o
1l +sec  xsmm x=

Options :

| % sin 2x



Question Number : 24 Question Id : 4387194824 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. 2(bc cos A+ accos B+ abcos C)=
ABC &2230e5° 2(bc cos A +ac cos B+ab cos €)=

Options :

| % at+bte

2(at+b+c)

a’+b+c?

2(az+bz—c2]

Question Number : 25 Question Id : 4387194825 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If4+6(e™ +1)tanh x=11coshx+11sinhx, then x =

4+6[e=.2x+1:] tanhx=1lcoshx+11sinhx eonad, x =

Options :
~ log 10
1. % ©



Question Number : 26 Question Id : 4387194826 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. %:2 /3 and £C=60°. Then the measure of £4 is

ABC 8zihas06)’, —=2+4/3 208050 £C=60"eand, /4 ag), Dews

a
b
Options :

0
1. % 23

65"

0
3 105

4 x ALF

Question Number : 27 Question Id : 4387194827 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Ifa=2.b=3.c=4 in a triangle ABC. then cos C=
Sz020 ABC &S a=2.b=3.c=4 008, cos C =

Options :



#
|

1.
-1
2. v 4
1
3. % 2
-1
4% 2

Question Number : 28 Question Id : 4387194828 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. (b+c) cosA + (c+a) cosB + (a+b) cosC =
ABC @3z02208°, (b+c) cosA + (c+a) cosB + (at+b) cosC =

Options :

| % 2abc
, % abe

a+b+c

4% (a+b+c)/2abc

Question Number : 29 Question Id : 4387194829 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



D. E. F are respectively the points on the sides BC, CA and AB of a A4BC dividing

them in the ratio 2:3. 1:2. 3:1 internally. The lines BE and CF intersect on the line

AD atP. If AP=x;.AB+v,. AC then x;+ v, =

A4BC &° BC,CAAB zoaroiy 36dr D.EF Docospen 2:3. 1:2, 3:1 g’

oSS DHRYT) 0. AD 3 D06 BE , CF 3wen P @b Do) e
Dot otEITon. AP=x,. AB+v,. AC oS x +v,=

Options :

=

i
v /6

Question Number : 30 Question Id : 4387194830 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

OABC 1s a tetrahedron. If D, E are the midpoints of OA and BC respectively, then

DE=

OABC a8 w6060, OA, BC & 065 Docoiden S D, E wand, DE=

Options :

%(O.HQB:—OC)
L% <



é (04+0B-0C)

2. %
~ (04-0B+0C)
3% 2 '
é(—{14+03+0r:‘]
4.9 2

Question Number : 31 Question Id : 4387194831 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Ifa+b+c=0 and ‘a s G |E3 == ‘-‘_" =3 then the angle between b and ¢ is

a+b+c=0.]a|=7.[B|=5.|d=3 eans b o ¢ © Boay E'mo
Options :
1. % 30°

Question Number : 32 Question Id : 4387194832 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



If P. Q are two points on the curve v = 2 in the rectangular Cartesian coordinate
system such that OP.i =-1, O0.i =2 then OQ—40P=

SHVOLD JErnE dwod” y = 27 o o P,Q 6D Tok Domopen
OP.i=-1,00.i=2 eci5een eotl 00—40P=
Options :

x 3i+8)
4i+6j

3 @ 6i+8]

4% 4i+3]

Question Number : 33 Question Id : 4387194833 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the equation of the plane passing through the point A(-2. 1. 3) and perpendicular to

" Ty a+b
the vector 3i+ j+5k is ax+bv+cz+d =0 then ;? =
C+¢

A(-2. 1. 3) Doty oot B> 3i+ j+ 5k HOIL Lotior™ &ol B0 PEESmo

a+b
ax+bv+cz+d =0 esqnd =
c+d
Options :
1. ® 4/5

2/
2

L]

2. %



3. % 1

4.9 A5

Question Number : 34 Question Id : 4387194834 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the mean of the data p.6.6.7.8.11.15.16, 15 3 times p. then the mean deviation of the
data from its mean is

P.6.6.7.8.11.15.16 ©d &Tro®0 GIWE), ©oS D0GVe p S 3 B 003 908
SVE[DVe Wod: &8 BTPoFTIS AN JBOJo

Options :

| % 225

T3

2 Jj!l

3% 44

12
ih

Question Number : 35 Question Id : 4387194835 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



In a box. there are 8 red. 7 blue and 6 green balls. One ball is picked randomly. The

probability that it is neither red nor green 1s

wE DOS” 8 B, TID HBD 6 B DI WoBILd SVD). oS Wod w8
808 O3NSl 88, @9d AP, BLOVW\IB M LIS AV
‘ri:oa,r;::?gej

Options :
v 13

Question Number : 36 Question Id : 4387194836 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

For two events A and B. a true statement among the following is
A 2580300 B 93 Go) 28005 10200800 So0d Toeied” 2,8 Q] DIWDo
Options :
— (B
P(AUB) =1-P(4)P| — |
< | 4]
1. ¢ '

. P(AUB)=1-P(4AUB)

. P(AUB) = P(AU B)



, » PAUB) =P(A) + P(B)

Question Number : 37 Question Id : 4387194837 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Five digit numbers are formed by using digits 1.2.3.4 and 5 without repetition. Then,
the probability that the randomly chosen number 1s divisible by 4 is

oSen DITOBo SSdorr 1.2.3.4 8w 5 wolSwdd &HArfHow 5 ©odw
RoP[OA SOITEBID. BHE BFET\STT DA D) S Do 4 B hHed
(S%;aowjmmmaa Roara(s

Options :

1

.5

ol 4 |

2. %

Ul o=

D
#®
o | =

Question Number : 38 Question Id : 4387194838 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



A manager decides to distribute Rs. 20000 between two employees X and Y. He
knows X deserves more than Y. but does not know how much more. So. he decides
to arbitrarily break Rs. 20000 in to two parts and gives X the bigger part. Then. the
chance that X gets twice as much as Y or more is

doe. 20000 R 208 D2 RGO aﬁsmm XY 05 Dot . Y 5T
X Q8985 Tosd ©@Ed ©sdd LR, 550 dodd WD AT (S 3dabew.
eootdd es &3, 20000 e aifﬁ,}a&sorw Dot 2T Ter™ B 26 ) X
RB. 0P X JolB 20do ©IB Y £T7) Totd T S @odsT) J8d
Tocersd SEE I

Options :
1. @ 2.15

Question Number : 39 Question Id : 4387194839 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a property of a Binomial distribution?

S0 TD&° BHE Derado g, @60 S°&.
Options :

Random experiment consists of a sequence of n identical trials

. QI e g DI Mo N DELRATID ooy o 363D SRt
1.



Each outcome can be referred to as a success or a failure

, % 28 D0y Fen) Sor LM DO 0.

The probabilities of the two outcomes can change from one trial to the next

2,8 OB 0 SWTS WL T°I& VYR A 05’ Tocd DITL VoeTd den

m"d;ﬁ{ﬁj&.
3.¥

The trials are independent

CIT) A0 V(Dod VLR
4. %

Question Number : 40 Question Id : 4387194840 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In a Bmomuial distribution B(n. p) . if the mean and varance are 15 and 10
respectively. then the value of the parameter n is

28 B Darade B, p) &, ©oSGR0sL 2oy JRBoen SWOT 15

S080320 10 9008, HTPALS N B0, QS

Options :
1 ) b4 2 3

3 o 45

-2
h



Question Number : 41 Question Id : 4387194841 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Suppose P and Q are the mud points of the sides AB and BC of a triangle where |
A(l. 3). B(3. 7) and C(7. 15) are vertices. Then the locus of R satisfying

AC?*+QR*=PR%is

A(1. 3). B(3. 7) 208ain C(7. 15) 3grenm Ao §zowod’ P 2odoin Q e, AB
Sodoin BC zuare 206 Docoden wand, AC’+QR*=PR D &d 088 R
DS, Do Do

Options :
+ 12y =297
L 6x+ 12y =29

% G+ 12y 297=1(

2
s x 12x+6y=297
4 % 12x+6y+297=0

Question Number : 42 Question Id : 4387194842 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Suppose A ABC is an isosceles triangle with 2€ = 90°, A = (2. 3) and B = (4. 5).
Then the centroid of the friangle 1s

ABC o3 2208Q e Gzvme &° £ = 90°, A= (2.3) 206050 B = (4.5) wand

& SXoxe A, 5o &R0
Options :

(53)
| % \8'3



Question Number : 43 Question Id : 4387194843 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the points of intersection of the coordinate axes and |x + y| = 2 form a rhombus.
then ifs area is

QErHEEFen dciw [x+ v =2 0 Dok Docodew w8 D WA
D68, & DTV
Options :

R

2. % 10

Question Number : 44 Question Id : 4387194844 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Suppose, in triangle AABC . x —y + 5 =0, x + 2y = 0 are respectively the equations
of the perpendicular bisectors of the sides AB and AC. If A is (1. -2). the equation of
the line joining B and C 1s

AABC @zh2208° x—y+5=0. x+2y=0 e H00dr AB H0dain AC
027w Lot VAB(WOGR oo POLESTT). A = (1.-2) vonad, B b C O

£9D Ban DAEGEIBN
Options :
L % 6x+7y=0

) l4x +23y-40=0

3 % 2x-11y=0

4% 2x+ty=0

Question Number : 45 Question Id : 4387194845 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the pair of straight lines 9x” + axy + 4y” + 6x + by — 3 = 0 represents two parallel
lines then

9%’ + axy + 4y” + 6x + by — 3 = 0 8a77030¢5) 0 Bothd DAToHS W LrdD
Options :
| % a=6,b=2

2‘Ja=12.b=4

, x a=3,b=1



, % a=-12b=4

Question Number : 46 Question Id : 4387194846 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A line passing through P (2. 3) and making an angle of 30° with the positive direction
; 2 '
of x-axis meets X~ — 2xy — },—'2 = at A and B. Then the value of PAPB 1s

P (2. 3) oot 'S, x-0fo G003 30° Ero B 28 B X —2xy -y =0 &
A, Bo 58 206X, PAPB Jend
Options :

173 +1

1. %
, o 17G3+D

17(v/3-1)

3. %

L 1731

Question Number : 47 Question Id : 4387194847 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

; gt a(1-t2)\ ,. ;
For any real number t, the point — lies on a/an
- 1+t2" 142
8t  4(1-t*
ART TS Road t 8. ( s . }) Dotod)
= = 14127 142

Options :

Circle of radius 2

. 2 D“éé“gow (L Oydo D &otod
1. '



Circle of radius 4

4 TGt (0 Hydo D Gotwod
2.4 R B

Ellipse with 4 as its major axis length

. &ugic TG 4T o &gaﬁ;ﬁgo ) GotLod
3.

Ellipse with 4 as its minor axis length

T o TED 4 T v HEHBo D Gotwod

4. % =

Question Number : 48 Question Id : 4387194848 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The area of the circle passing through the points (5. £2), (1.2) 1s
(5. £2). (1.2) Do Moot oD Hydaw g, PFoye

Options :

167

4, %

Question Number : 49 Question Id : 4387194849 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the largest and shortest distances from the point (2. -7) to the circle
M+ - 14y —10v—151=01s

(2. -7) Doty Rodt x* +17 - 1y — 10y — 151 = 0 03 532058 G0 18K
2000w AR ArTTY S

Options :

L« B8

VSRR

Question Number : 50 Question Id : 4387194850 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A circle has 1ts centre in the first quadrant and passes through (2. 3). If this cucle
makes intercepts of length 3 and 4 respectively on x = 2 and v = 3, its equation is

DAL FSoes” So)) $DAD w8 dydo (2. 3) Doty Mot T'dood, & Hydo

X=2, ¥=3 0P DM 3.4 TENHWO (0 ©9oB6 DotrLR0 B, T PVASEE0

Options :

L% X+ +3x—5y+8&=0
- LS I ——

, % X T dx—-6vy+13=0

3 % ¥’ —‘1;— 6x—8y+23=0



iy K 8- +30=0

Question Number : 51 Question Id : 4387194851 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

-

The image of the point (3. 4) with respect to the radical axis of the circles
X+Hy +8t+2y+10=0andx +y"+7x+ 3y +10=01s
AV 20+ 10=0, X +17+Tx+3r+10=0 & Botd HyTw Jurerso
cighgg‘.-‘ (3. 4) Do) WS, DBDorIAN

[

Options :
ERY

2, %

v 4.3)

4. ® 3, '4)

Question Number : 52 Question Id : 4387194852 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Suppose a parabola passes through (0. 4). (1. 9) and (4. 5) and has its axis parallel to
the y-axis. Then the equation of the parabola is

(0. 4). (1. 9) 08ak0 (4. 5) DotoDHL Aot Tér y-0J8 HIToSCT =)
£DAD DT DBVODHAW CINE), HIESESI0

Options :
9x” + 12y — T9x — 48 =
1'\?‘,1_1 12y O9x—48=0



o % 19x° +12y-79x+48=0

1937 + 12x — 79y — 48 =0

3. %

197+ 12x— 791 + 48 =0

4, %
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2 2
- i -

(4 3} X 3
The focal distances of the point | —.— |on the ellipse —+—=1 are
el Wl 479

.

2 ]

X W (4 3
?+?_1 £83;80 S DotdD) |?E‘ ol T Groen

Options :
10

L% 3

Lo | b2

[
LS
| Lh
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If the normal to the rectangular hyperbola X" — 3«'2 =1 at the point P {%) meets the
curve again at Q(8). then sec” 8 + tan 6 =

XE—}’Z =1 3 Lot SDHTDHLOITIS P(%) ;::cg fe eaddeoe)B ;ﬁgﬂi}l ilele!
Q(B) Dot 65 wodY sec’ O +tan b =

Options :

I.Q —13

2.&,5?

g% 1

Question Number : 55 Question Id : 4387194855 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the vertices and foci of a hyperbola are respectively (+3.0)and (+4.0) then the

parametric equations of that hyperbola are
28 VSDT-HUCKo CVE), FT°L, TN SR (£3.0)208cky  (£4.0) wonsd

€3 DT"HVODO TG, HoDECH PDOLESETTLD

Options :
x=3sec d.v=Ttan &
1. % :
) % x=1/3 sec G.v= \Eran 7,

; & X5 \Esec #.v="7tan 6



sec B.v= \Etan &

L]

4. %7

Question Number : 56 Question Id : 4387194856 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If x-coordinate of a point P on the line joining the pomnts Q(2. 2, 1) and R (5. 2. -2) 1s
4. then the y-coordinate of P =

Q(2.2.1) 08050 R (5. 2. -2) Docosposs £9D B o w8 Docod P adwg)

X- ABrDSo 4 ©ad P 0Ing), - A6rDSe =

Options :

_% (x-coordinate of P)

_% (P @0s), x- DE>DHE0)
L® =

-2 (z-coordinate of P)

-2 (P aiws); z- DETHSe)
2. %

2 (z-coordinate of P)

2 (P ciwg), z- DErDEo)
3. ®

Sum of x and z coordinates of P

P Q3wE) X, Z, ACFDE0 2080

Question Number : 57 Question Id : 4387194857 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



If (2. 3.c) are the direction ratios of a ray passing through the poimnt C(5. q. 1) and
also the mid point of the line segment joining the points A (p. -4. 2) and B (3. 2. -4)
thenec. (p+7q)=

C(5.q. 1) 3 Do) H8a3w A (p.-4.2)and B (3. 2. -4) oo €9 d
Dolio ;fx.::ﬁ.,ﬁ?g Dot Mot &7t 00 28 3660 adws), &S FJG&JB?JJ (2. 3.c) a0
c.pt+Tq) =

Options :

R

2. v 34

Question Number : 58 Question Id : 4387194858 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If the equation of the plane which 1s at a distance of % units from the origin and
perpendicular to a line whose directional ratios are (1. 2. 2) isx +pv + gz + 1 =0

then \/pz +q*+1t =

1
Sorudoddsd) Aod /’% 3T GArdees” eotar (1.2.2) e &S “n:oas?ge_urf“ e DY

2 r .2
S5 VoklolT &ofi Swo e, DRDESE0 +Hpy+gztr =0 ond \/P tgq 1
Options :
Lv3



Question Number : 59 Question Id : 4387194859 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

. : . 3~
If[ - ] denotes greatest integer function. then lim —| — | =
Sl I

-

. 1[ -1
[ -] A8y yrTres ;.f_.‘:,;i:n:::i.?’:};t A, lim —| —} —
) £a =% it 1L|5_ £

Options :
_5/
L /3
5/
/3
2. %
10/
3. % /3
-10/
g% /3

Question Number : 60 Question Id : 4387194860 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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‘mz +bx+ c‘
If I.m (I <m) are roots of ax” + bx + ¢ = 0. then lim *— =
=a gx +bx+ec

3 _ ‘axz +bx+ c*‘
I.m (I <m) e ax” +bx+c=0 dws) roren vand, lim — =
x—a gx” +bx+c

Options :
H L =R
e .Vae
ﬂ. when o € (I.m)
a
_|”| , & 2 (l.m) 00N
,x @
a
——. when a € (l.m)
a
o
——, o e(l.m) LoD
3. 4
]
—, when a (l.m)
a
s
=, @ E(l.m) 0RIED
4.% 4
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—. for|x|>1
Let iftx)= {" | | If ]_i1111 f(x) and 15111 f(x) exist. then the possible

ax® +b. f031.1'| |

values for a and b are

|i fm'|.1'| > 1
Let £(x)=1|x| 0aRDE, lim f(x) B080m0 lim f(x) S5PR%0
Lﬂr:s:2 +b. fmix‘| <1
©os3, a, b S 5%;55;&3::335 SDesden

Options :

lwnzb:l

a=—Y b="3/
a=3 b="1
3 &2 A

Question Number : 62 Question Id : 4387194862 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

. d .
If x#0 and f(x) satisfies 8 f(x) :—Gf( %):x + 5. then —(xzf{xj] at x=1 is

dx

x # 0 208050 8f(x)+6f(%_]=r+5 D flx) wond, x=1 3¢ fi{ff{x,}k
\ /. ax

Options :



4.9 t

Question Number : 63 Question Id : 4387194863 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

d | .. 1 1 )
L 1111} _— ‘ ‘ =
dx |72 y=2\lx x¥+9y=-2)
Options :

2
% &%
7

&

2. % /X

I
-2

1

4. % 1%

Question Number : 64 Question Id : 4387194864 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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{.Tﬂ log(cosx)

If f(x)=4 log(+x) ) . then atx=0. f(x)is
0 . X={)
[ 7 ;
| x” log (cos x) J—
f®)=1 log(l+x) @and x=0 & f(x)
0 . =)

Options :
not continuous

Eﬂﬁﬁjélm:} 0

continuous but not differentiable

e::i)qj Qyo, oS g Do 5

ditferentiable

9350030900

not continuous. but differentiable

e::m;ﬁ D)o 576 5 esg0dabo

Question Number : 65 Question Id : 4387194865 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The number of those tangents to the curve y° — 2x° — 4y + 8 = 0 which pass through
the point (1. 2) 15
2

y —2x° —4y+8=0 35°08 (1. 2) Do) Mormd'ad K36, Bae oy

Options :



Question Number : 66 Question Id : 4387194866 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

F o |
i : : ey [ :
If the straight line xcosa + ysing = p touches the curve | — ' — 1 E =2 at the point
\
1 1 k&
(a.b)onitand —+—=— thenk=
at b p’
! e M ".H
XC0s0 + ysing = p €99 m-ﬁj@ﬁm |5 -|—| = | =2 35 TR dw (a. b) Do
al |\
G 1 3 k
DG D FAW0B BWBD —+—=— VoS k =
= a- b~ p
Options :
v 4
2. % >
3. % 0
4, % 7

Question Number : 67 Question Id : 4387194867 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
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oo ? 7 .
Condition that 2 curves v~ = 4ax. Xy = ¢ cut orthogonally is

-

Y =4ax, Xy = ¢’ 55 0D ©0L)orT ot ot DS DoHS0AW
Options :

| % c? =164’

Question Number : 68 Question Id : 4387194868 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A closed cylinder of given volume will have least surface area when the ratio of its
height and base radius is

GB0BDBITEAN (L 28 BB (0 AFDIW EIY &dddY DTy O
GoGerI8 B BB T(VT W iy D

Options :

- .
1.%’*""'1

]

233].

Question Number : 69 Question Id : 4387194869 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0
Two particles P and Q located at the points P(t, *—16t-3 ), Q(t + 1, t'— 6t—6) are
moving in a plane, the minimum distance between the points in theiwr motion is

P(t, '-16t=3 ), Q(t + 1, t'~ 61-6) DocdH®L I (o Totd SeTen P, Q e 28 oS’
WEROTT) Q. ) DOITEAND) )HE T°8 G| AN Brdo

Options :

vl

4. % 49

Question Number : 70 Question Id : 4387194870 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

B fx)—= sz cos’ .1:(21' tan’ x—2x—Gtan 1} dx and f{0) =n then f(x)=
T = J x* cos’ :r(_ix tan” x—2x— 6 tan x)ai'x Sobcdiw f(0) =7 eod f(x)=

Options :

i) .
L% Asmxy+T
) % Cosx+m-1
3 . .
-X sm2x+ T

3.¢

3
4 % ¥ COs2X+ Tcosx



Question Number : 71 Question Id : 4387194871 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0
e?“"; ( s
If J J_{x'+n/;]dx' =" [A.T+BVI1_"—C]+K. then A+ B+ C=
R
o |
I'—(xﬂfx_'Jd‘f:Eﬁ |:AI+_B’\/.‘{_'+C:|—K eoond, A+B+C=

Options :

=2
1. % =

I3

2.9
3. % 4

4. % -4

Question Number : 72 Question Id : 4387194872 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

» 1 +aftan x

If J —— dr=Adlogtanx+ Btanx+ C then 4A —2B =
sm2x
«1++ftanx
| ————dy=Alogtanx+ Btanx + Ceood, 4A - 2B =
*  sin2x
Options :
1. ® -1
=
2. % <



Question Number : 73 Question Id : 4387194873 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

sl +tanxtan(x +a)

=
* tanxtan(x+a)
Options :
tan o (log(sec(x+a) ) +logsecx+C)
1.
s:c-tc:r{10g|5i11x|—10g|51'11(1':—Q‘j|}+ &
2.9
|'. f CDS :|L_ '-I ..I
tauc:r" log‘ — |+C'
) ; Lsin{x+ o) | )
3, % S /
( sin(x+a) |
cot&“ log¥ ‘+C
. cos(x+a) )
4. %

Question Number : 74 Question Id : 4387194874 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0
) 1 1

-4 1
Ifl,= tan™x dx, then + + =
a Jo ! | PR P [4+1g

4 1 1 1
L= /* tan™x dx eond, - =% —
i Ip+ly  I3tls Is+]1,

Options :
1
1. % Ig ‘[‘ Ill



I

2, %

« I + 11,
1

4 Ij; + 13

Question Number : 75 Question Id : 4387194875 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

/4 5
f et cinZ0 tanf do =
o

Options :
1 /e
1)

e
i
2

1. ¢

Question Number : 76 Question Id : 4387194876 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



-S4
J (lcost|sint + |sint|cost)dt =
m/d

Options :

v 0

3 1/2

4 % V3/2

Question Number : 77 Question Id : 4387194877 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If f{x) = Max{sm x. cos x}jand g(x) = Min {sinx. cosx}.

then [ f(x)dx+ [ g(x)dx =

f{x) = ABR{sin X. cos X}00080 g(x) = SAY {SIIX COSX | oS,
[ fldx + [ g(x)dx =

Options :

L x 2242
, % 2V2—2
3.v 2

4% 242



Question Number : 78 Question Id : 4387194878 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If [ and m are order and degree of a differential equation of all the straight lines at
¥ H CT I ¥ 3
constant distance of P units from the origin. then Im =+ "m =

200D Aot) P oA D6 Brodnd” &) ©) DETY ding), 8ISV

HAEGe CB0E), BEAD 20BALD BBITETLL SADT | SoBCKN 17 900D

;] ¥
lmr+1U"m=
Options :

L% 2
2. 0
3.0% 12

4w 30

Question Number : 79 Question Id : 4387194879 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

2x—4y-"5

——— thenc=
x—2y+2

- ¢ L { g d

= —f__;;’: 380D DDLEITIE T FED 2x-y+c log(lx-2y-4)) = k, e00d

Cc =
Options :

1.33':1

. ¥



4. % -4

Question Number : 80 Question Id : 4387194880 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

xtetf

By eliminating the arbitrary constants from y = (a+b) sin(x+c) — de . the

differential equation obtained is of order
y = (a+b) sin(x+c) — de*¢T 20cd Od?dﬂr:}a}s ?&‘.?CS SEENGEIY S RS Dd:jﬁ.

e055)R) Fob;édeaaw 0113;& D830

Options :
1. % 6
2. % 4
3.9 3
4. % :
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Maximum Instruction Time : 0

Question Number : 81 Question Id : 4387194881 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



In ST units. kg m” s is equivalent to which of the following?
SI Harrrees’ kg m’ s $08 Tree5® SIS DATHS0?

Options :
newton

watt

e i)

2. %

joule

Lo TS

pascal

L 5“‘;&3?95

Question Number : 82 Question Id : 4387194882 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

An object moving along x-axis with a uniform acceleration has velocity

V= [1’-".(:1115'1 ] tatx =3 cm. After 2 sif 1tis at x = —5 cm. then its acceleration 1s

‘ﬁ;ﬁ}eﬁ&dmmg X- ©go Dol tﬁ@‘@}&‘.&l 28 DY X = 3 cm DO V= (12421113_1)}
D633 £0A God. 25 BTG &5 DY X = — 5 cm IG God &7 BLOIAD
Options :

5=(—16cms'z]i
1. ¥



a=(llems™ }1

L d= {_—1 lems™ ]1

L q= (8{:111 57 }1

Question Number : 83 Question Id : 4387194883 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A force F; of magnitude 4 N acts on an object of mass 1 kg. at origin in a direction

30° above the positive x - axis. A second force F> of magnitude 4 N acts on the same
object in the direction of the positive v - axis. The magnitude of the acceleration of
the object is nearly

Soredodiyd) 56 ey 1 kg Q;ﬁéﬂ"%’ (o 208 DD 2 4 N HBAreo (o wo
F; 6% x-©080pd 30° Emo & DOrAosnddd. ©d S H8arme 4 N 6o
2088 swe P_: B0 Y- 835" DOrRodeadd. ond e D) SO0 A0S,

28T AATET
Options :

3
L& 6.9 ms

L -2
5 % 1.6ms

- 2
3 % 4.3 ms

4 % 8.0 ms™



Question Number : 84 Question Id : 4387194884 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

B . . a . . . . .
y = (Pt* — Q') m is the vertical displacement of a ball which is moving in vertical
plane. Then the maximum height that the ball can reach 1s

£02 wow Bwodd WHWD) wE wed ), L8 wow  FDFOIO

y=(Pt' —Qf) m. ©ond b 36605 (033 D
Options :
27P°

il

4Q°

4% 4P

Question Number : 85 Question Id : 4387194885 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A cricket ball of mass 50 g having velocity 50 cm s is stopped in 0.5 s. The force
applied to stop the ball 1s

@508 50 g. Srfe 50 em s o 28 8565 wed 0.5 s SPwoes” RFHORBS HDNIB.

£90R €5 2IoB3) e3INLISY DBV Lo
Options :



Question Number : 86 Question Id : 4387194886 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Two masses M; and M, are amranged as shown in the figure. Let ‘a’ be the
magnitude of the acceleration of the mass M;. If the mass of M; 1s doubled and that
of M3 i1s halved. then the acceleration of the system is

(Treat all surfaces as smooth : masses of pulley and rope are negligible )

Oodid @&ﬁéﬂ‘%\)w M; S0803n M; o) DHerdwes” NSRRI 20Ty 6. My ;:_5,,::5!:“%’
CR0E), SO0 DDA a eo0E Ao, M, gaﬁ_&m%’ ~ Dot T Sudodin M

G5] T°F D DI B DIDR CI0E); B0

(£DBderen 20ge G820, 533:], TPEOV BI[THVVA D) Botdodw)

'l-[;

Options :



(M, +M, )
| ————————| &

| aM, +M, )
Lo .

(2M, +M, )

.
| 4M, +M,
5 \, L

(M, +2M, )

| =~
| 4M, +2M, |
® - =

(M, +2M, |
L M, +M, |

a

Question Number : 87 Question Id : 4387194887 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A ball of mass 300 g is dropped from a height 10 m above a sandy ground. On
reaching the ground. it penetrates through a distance 1.5 m in sand and finally stops.
The average resistance offered by the sand to oppose the motion 1s
(acceleration due to gravity = 10 ms™)

B5oe8 300 g e ef w080 10 m 2% Sod =8 Suop &8 DAITH, ob wesE® 1.5 m
Fh% TP Son VOVKE. vuwd © wod JoTR) WHeBED, & kY $D0DS S VT
D€ 5D
(ot SBo = 10 ms™)
Options :

35N



, % 28N

Question Number : 88 Question Id : 4387194888 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Two balls A and B. of masses M and 2M respectively collide each other. If the ball
A moves with a speed of 150 ms™ and collides with ball B. moving with speed v in
the opposite direction. After collision if ball A comes to rest and the coefficient of
restitution 1s 1 (one). then the speed of the ball B before it collides with ball A 1s

[Saggorahien M &8s ZM Stilor He Do ooden A Sbcko B g Fanow. =08 A 150 ms’
Stiod® $odr v isns® 5808 0¥8° S B 2083 § U8 SonE A 208, fe 588 SK8.
il @@ééﬁ;é easan 1 (88) wows é F5E Sooth B mo@ dndo v Densd

Options :

1

~r q oy
L& 37.5ms

) % 12.5 ms™

- -1
3 % 5 ms

S
4% 25 ms
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A solid sphere of radius R has its outer halt removed. so that its radius becomes
(R/2). Then its moment of inertia about the diameter is

Tgrgo R e i Ay, R (R/2) sdgety 3 ¢l FohodTdh. sond o0 Fbsn

wdonr e lershassn
Options :

1 o s
becomes = of its mnitial volume.

&9 Densst

N

1. ®

1s unchanged.

5 % ErOH.

1 —
becomes — of mitial volume.

i 32

Question Number : 90 Question Id : 4387194890 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not true about vectors A. B and C?

sedm A.B Sbdn C, o HBod 1808 7ad® Hdisn 06 28?

2



Options :
(E—Tij (B E‘}j 1s a scalar value.

. (A.A) (B.C)sta e,

(Ef-ﬁj. (ﬁ‘xf) 1s a scalar value,

- (A<B). (B<C) sbz S,

(EXE)X (ﬁxa is a scalar value.

v (A~C)* (B«C) wow Deos.

—_— —_— — -
A « (B=C) 1s a vector value.
— —

L% A x (BxC) #86z Deoid.

Question Number : 91 Question Id : 4387194891 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A body is executing S H.M. At a displacement *x” its potential energy i1s 9 J and at a
displacement ‘y’ its potential energy is 16 J. The potential energy at displacement

(x+y) 1s

s S B Sk i b Elg‘ﬁ'}igfo-ﬁ'sim ‘X7 5Y, 0 L8edd 9 Jdbam agedsn Ty &8

[4]

=0 §8¥8 16 1. saus (xty) ligodin ¢ $o=48

Options :
| %253

2. =



3_@? 49 lT

L

Question Number : 92 Question Id : 4387194892 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

As shown in the figure, an iron block A of volume 0.25 m’ is attached to a spring S
of unstretched length 1.0 m and hanging to the ceiling of a roof. The spring gets
stretched by 0.2 m. This block is removed and another block B of iron of volume
0.75 m’ is now attached to the same spring and kept on a frictionless incline plane of

30° inclination. The distance of the block from the top along the mcline at
equilibrinm 1s

Beoost S-S o S $05rm0 0.25 M’ fe o8 83 A D, £6 pUsew @ovf 623 1.0 m
Sime grdsy de ﬁ:&oﬁ S % Sadorl. u5% o [&;oﬁ 0.2 m JrRS6. 0% @ ﬁﬁaéeﬁ:a Fofiod,
0.75 m’ o8 $88rmo Ho 6% a5 &3y B & = (ol B Ao, 30° ram Rkl T
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A uniform solid sphere of radius R produces a gravitational acceleration of a, on its
surface. The distance of the point from the centre of the sphere where the gravitational

. a, .
acceleration becomes — 1s

R &rdo o o8 U588 it ool doop Ao Hdy bniund $0Roikid. A Soldo Mol
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In a hydraulic lift. compressed air exerts a force F on a small piston of radius 3 cm.

Due to this pressure the second piston of radius 5 cm lifts a load of 1875 kg. The
value of Fis

(Acceleration due to gravity = 10 ms™)

28 D8 3 & 3 em ;.&'“5.5"%-::: fo 208 DD) Ao P wodord BGd MO F
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In a U—shaped tube the radius of one limb 1s 2 mm and that of other limb 1s 4 mm. A
liguid of surface tension 0.03 Nm™. density 1500 l‘:gm'ji and angle of contact zero is
taken in the tube. The difference in the heights of the levels of the liquid in the two
limbs 1s

(Acceleration due to gravity = 10 ms™)

28 U— 95762 Hhod” 208 T°¥o alng), J°j0°00 2 mm 08050 K88 ¥ dE),
T Frdo 4 mm. D6, Edo R0, B0 DS 0.03 Nm™ 208050 Fo@s 1500 kgm™
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A steady tlow of a liquud of density p 1s shown m figure. At point 1. the area of cross-

section is 2A and the speed of flow of liquid is V2 ms”. At point 2. the area of cross-
section 1s A. Between the points 1 and 2. the pressure difference 1s 100 Nm~ and the

height difference 1s 10 cm. The value of p is
(Acceleration due to gravity = 10 1115'2)

DL’ WP DG Fowd p (o 28 Gdo JVESAT DdaFord N A. 1 S
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A metal tape is calibrated at 25 °C. On a cold day when the temperature is -15 °C,
the percentage error in the measurement of length 1s

(Coefficient of linear expansion of metal =1 x 10~ °C™)

2,8 Sy S 25 °%C DY EIT0ER0 BIT . ForTrwees’ we Ber -15 °C 56
TS S’ 80 7do
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A gas 1s expanded from an imitial state to a final state along a path on a
P-V diagram. The path consists of (1) an isothermal expansion of work 50 J. (i1) an
adiabatic expansion and (1i1) an isothermal expansion of work 20 J. If the internal
energy of gas i1s changed by —30 J. then the work done by gas during adiabatic
expansion 1s

w8 Troind) &89 DD Aol S& 38 P-V D305 ST 9RGD)
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The temperature of the sink of a Carnot engine 1s 250 K. In order to increase the
efficiency of the Camot engine from 25 % to 50 %. the temperature of the sink
should be increased by

w8 50 ododo CBVE), SETD A Towd) ﬁ%“dé 250 K. & =8 oog oIng) OB

25 % A00& 50 % £ DoBIT Dok agvécma wBE), agﬁg@é‘ Felablalnl )
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In non-rigid diatomic molecule with an additional vibrational mode

C5)CEa 50 BLDOATEDE EVYY” VGBDTT 28 oD 03 £9H o)
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Speed of sound in air near room temperature 1s approximately

(& ag"’;ja DG me” B HE AT
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The radii of curvature of a double convex lens are 4 cm and 8 cm. If the refractive
index of the material of the lens 1s 1.5. the focal length of the lens 1s nearly

2.5 &15530&3“5'“{:5 SeiSo cﬂ.‘m::sET bul=tal} J"éﬁ“g’“&l} 4 cm 20003 8 cm. 585 :::::Fg:g_‘)
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When monochromatic light of wavelength 600 nm is used i Young's double slit
experiment. the fifth order bright fringe 1s formed at 6 mm from the central bright
fringe on the screen. If the experiment is conducted with light of wavelength 400 nm
from the central bright fringe. the third order bright fringe will be located at

ofooh 2oty wWHE DHAITHES® 600 nm B6ofiBY0 o DS BY T8
SDAPAEDIIYED, BE WG Sog EFGAD (Dewrd) DO Aod 6 mm PG’
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A solid sphere of radius R camries a positive charge Q distributed uniformly
throughout its volume. A very thin hole i1s drilled through it’s center. A particle of
mass m and charge —q performs simple harmonic motion about the center of the
sphere in this hole. The frequency of oscillation is

R ;.:“5.5°ga Ao 208 03 e T 20RDBATMe D™ VS BAMT DBV T D30
Q %0 ¢9A 6316, @D Fofe Mol 2§ D) Go@An BaHaddG. Hvo Sogo
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Assertion (A): In a region of constant potential. the electric field i1s zero and there
can be no charge inside the region.

Reason (R): According to Gauss law, charge inside the region should be zero if
electric field 1s zero.

LIS (A): iq:;d DS 28 30 SDAD EBeS” IBS S B3 Brd(dw.
208030 &5 E80e5” Do) DS DI €G3 DT .

soe0 (R): TR oo D50o IS ES OIS ITHRD Eod” IS
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Statement (A): Inside a charged hollow metal sphere. E=0. V#0. (E - electric field.
V — electric potential)

Statement (B): The work done in moving a positive charge on an equipotential
surface 1s zero.

Statement (C): When two like charges are brought closer. their mutual electrostatic
potential energy will increase.

DOBDBL (A) : 8D ¥, ST HYIw Sbo E=0. V#0. (E - DS Edo.
Wies 3@5& f:i"e‘jgomej )
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3 ; ; = :
An electron takes 40~10° s to drift from one end of a metal wire of length 2 m to its
other end. The area of cross-section of the wire is 4 mm~ and it is carrying a current
of 1.6 A. The number density of free electrons in the metal wire 1s

TeED 2 m, DSHBGS DT 4 mm’ G0 a8 S EdS° 1.6 A DS
DTEPAN BOAIYDE), 28 JVTR wE S B w8 WHB Woc. WFE DI
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The current 1" in the circwit shown in the figure is
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A toroid has a non ferromagnetic core of mner radius 24 cm and outer radius 25 cm.
around which 4900 turns of a wire are wound. If the current in the wire is 12 A.
the magnetic field inside the core of the toroid 1s

25 em ey a“éﬁ‘ga 24 cm o900 35.5“25» o 28 DE oI o Dergo 520
S'Tod §6 woen 4900 & e SuD. & aF Mot 12 A DANS DT
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A steel wire of length / and magnetic moment M is bent into a semicircular arc of
radius R. The new magnetic moment is

TG [ 900IY0d eriuso M v w8 &) B0, T(F°do R AL ©f 3,556

EFRB0MT Do iy §e 90DI) 08 gradso
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A magnetic needle free to rotate in a vertical plane parallel to the magnetic meridian
has 1ts north tip pointing down at 30° with the horizontal. The horizontal component
of the earth’s magnetic field at the place is 0.3 G. Then the magnitude of the earth’s
magnetic field at the location 1s

SO 08 BAODLD L DAToSCoT &) AL Dews) PV JIWNT e
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A circular coil has 100 turns. radius 3 cm and resistance 4 £). This coil 15 co-axial
with a solenoid of 200 turns/cm and diameter 4 cm. If the solenoid current 1s
decreased from 2 A to zero in 0.04 s. then the current induced in the coil 1s

woe 100. S7RAG80 3 cm 0B0i WEGI0 4 Q Ko 28 HyTrees &6 B8 0.
& B o Dirgorr 1 om & 200 08, JRIL 4 em (v 28 FOTand
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Capacitive reactance of a capacitor in an AC circuit is 3 kQ . If this capacitor is
connected to a new AC source of double frequency. the capacitive reactance will
become

28 AC S00Dod™D) STrowd cwg) pATGe 3 kQ . o8 sddHed o oo
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; . : B 2
A light of mtensity 12 Wm™ incidents on a black surface of area 4 cm”™. The
radiation pressure on the surface 1s

12 Wm™ 828 o S0 4 cm’ PF oo (L 28 1 Swo P DBVo TodIB. & JVo

2 DEBE DEDAW
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The electric field (E) and magnetic field (B) of an electromagnetic wave passing
through vacuum are given by

E=E,; sin (kx —mt)
B =B, sin (kx —ot)

Then the correct statement among the following 1s

waécﬁrascé‘ 200808 2.8 36&.‘}6&-@3‘%@@ SCo(130 ), DGAS ESo (E)
20003 oNR) e E80 (B) wo
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In a photoelectric experiment light of wavelength 800 nm produces photoelectrons
with the smallest de Broglie wavelength of 1 nm. Light of 400 nm produces
photoelectrons with smallest de Broghe wavelength of 0.5 nm. Then the work
function of the metal used in the experiment is nearly

e:ﬁdorﬁggéo 800 nm (L S8 w8 Sl IS DATesd” &HATHoRDd, 1 nm
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A hydrogen atom at the ground level absorbs a photon and is excited to n = 4 level.
The potential energy of the electron 1n the excited state 1s

BrRdS" o rERd HOATLDD) wE VP D FaowED n=4 Fand edade
VONID. & adaS O & QUTD DO 3§
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The radius of an atomic nucleus of mass number 64 1s 4.8 fermi. Then the mass
number of another atomic nucleus of radius 6 fermi is

GITF Dop| 64 (v e DOITED So@So IS J7Frde 4.8 fermi. :.1"5.5“60
=Y 2) = ) o
6 fermi (o 2088 DOITEW SoGSo WS, ngﬂ“% Roady
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Consider the statements

In a semi conductor

(A) There are no free electrons at 0 K.

(B) There are no free electrons at any temperature

(C) The number of free electrons increases with temperature.

(D) The number of free electrons 1s less than that in a conductor.
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A carrier wave 1s used to transmit a message signal. If the peak voltage of
modulating signal and carrier signal are mcreased by 1% and 3% respectively. the

modulation mdex is changed by
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The maximum number of electrons present in an orbital withn=4. /=3 1s
n=4,7=3 (0 28 80,7 & (180 VTR Doy

Options :
1 = 06

0. x 14

10

3. %

4.9 2

Question Number : 122 Question Id : 4387194922 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which guantum number provides information about the shape of an orbital?

® S™(otlo o €58,¢7°e5 QIS BTG VoD VIFETD) SHoLBRE?

Options :
Spin quantum number
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Magnetic quantum number

waﬁsﬁnbmﬁ S°(otdo R0

Principal quantum number
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In which of the following. elements are arranged in the correct order of their electron
gain enthalpies.

208 T°e5" By ArwusTen T DU Ty aoq:“bba: RBILD S0 &°
waﬁodbmgm.
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In second period of the long form of the periodic table an element X has second
lowest first ionization enthalpy and element Y has second highest first ionization
enthalpy values. What are X and Y?
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The set of molecules in which the central atom 1s not obeying the octet rule is

So6 ENPY @ VAAG”, Sod DEATEY R oDATY) Fehotdtio T?
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The formal charges of atoms (1). (2) and (3) in the 1on | %:?";:%} 1s
{ (2} {3)

|0 :E:‘v']’:(o} 9ai7R0 Do (1). (2). (3) DOITERHY FGS BIFL ST
LD @ 6 |

Options :
T
| % 0.+2. -1

0,+1.0
2.9

s x 12,0,-1

4 % TL.0.0

Question Number : 127 Question Id : 4387194927 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



From the following plots. find the correct option.
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b B
» I|I \ o
P | S vV L
I".\ B ‘I‘ f/.-
* L - . _,-'f T -
\ R"\-\. - _—
o T e __F__,_.'-""" -F'-|
et T
H""‘-\-.__\_\_
v B

Options :
TizT: ; P1> Py
1. #

2. ® Ti>=T; ; Py>Py

T2>=T; ; P> Py

Question Number : 128 Question Id : 4387194928 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



How many grams of Mg i1s required to completely reduce 100 ml. 0.1 M NO3
solution using the following reaction

NO3; +Mg — Mg  + NH;
100 ml © 0.1 M NO3 @roerdy 808 dEGHe HS°Co. WPOT LADSE0
T aotut)S) T w0 Mg errdo (Mrawewes’) dod?

NO; + Mg —» Mg™ +NH;
Options :
v 0.96

, % 0.62
5 x 0.24

4 % 075

Question Number : 129 Question Id : 4387194929 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the oxidation state of S m the sulphur containing product of the following
reaction?

Sod zﬂdﬁeﬁﬁ SN <OAD éajre::.éﬁce&‘i} S a%;js-:jm f’;maeié Doeh?

SO; (aq) + Br,()+H,0 —

Options :

7 # +4

3 ® +2.5



4 % +2

Question Number : 130 Question Id : 4387194930 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Observe the following properties:

Volume, enthalpy, density. temperature. heat capacity. pressure. mternal energy.
The number of extensive properties in the above list 15

$od o o 083otiod.
20DDBAT0., Qc}qs“g}b. FoBd. egﬁg@. Srelal L) DEDID. e50dE 33,
2 TS” D6 AT Vo) Jods?

Options :

1.\'/4

Question Number : 131 Question Id : 4387194931 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Match the following

A. Isothermal process 1 =AU
B. Adiabatic process ii W=-P X AV
C. Isobaric process 1 W= AU
(V. )
D. Isochoric process iv. W=-nRTln | ?f

A, 220 pioD i qg=AU

B. 280 ngoD i W=-P X AV
LTV " R

C. PDBH0DEDS H3aH iii W=AU

s
D. %30 20808575 Hda®H  iv. W =-nRTIn ‘ ?f‘

Options :

o A—(iv). B— (). C— (). D— (i)

, % A= (ii). B—(iv). C - (i). D - (ii)

s x A—(.B= (). C- (ii). D~ (V)

4% A—(11).B-(1).C—(1v). D—(i11)

Question Number : 132 Question Id : 4387194932 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following expression is correct

308 DASGrTeLS” DA HOEIE?



Options :

 AG = —RTIhK

1. %

AG = :
, % RT?’InK
X Ja{;" — —RTInkK

1

AR =

4% RT?InK

Question Number : 133 Question Id : 4387194933 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The pH of 0.01 N lime water 1s
0.01 N 820 D& pH dodh?

Options :
| % 13.09

2. % 10

3.0 12

4. % 9.8

Question Number : 134 Question Id : 4387194934 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The empirical formula of Calgon is

SO Alng), BT DS é“d}é?}“
Options :
| % KHQP03

) ® N’apjl:);

, v NaPO;

4 % Na;PO;

Question Number : 135 Question Id : 4387194935 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The pair of elements that form both oxides and nitrides. when burnt in air are
S 0000, BT 1E 20BaH0 DO L Told DG6B FPVTV 2ot AE?

Options :
| % Na. Mg

5 % Na. Be

,» Mg, Ca

4% Be. Mn

Question Number : 136 Question Id : 4387194936 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Among Py. Sg and Ns. the elements which undergo disproportionation when heated
with NaOH solution

P,. S and N,. swescees® NaOH & dE BB DD DRI rﬁd&Scc&me‘?
Options :
v P,. Sg only

. N,. Sg only
2.

- Na. P4 only

s x PoNaSs

Question Number : 137 Question Id : 4387194937 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct statements about the anomalous behavior of Boron

I. Boron trihalides can form dimeric structures.
II. Boron shows + 1 as stable oxidation state
III. Maxumnum covalency of Boron is four.

IV. Boron does not form BF.&E- 1011.

e5"0°D e9R0(1d DTS Dorodetdd DBAVA TV MBotsddw.
L 507D S35 ¢ &g 00807 frodd D670,
= o i
I &5°0°2 2620 + 1 88868 RS DG EER.
1L £5°0° ABR PROCIT A0S TR0

IV. &5°0°0 BF" @00i5S 20 D6\6060.
Options :



I, II only

I, T 20083
1. % =

II, 11 only

I, TIT 3783
2. %

IIL, IV only
;v OL IV SIS0

I, IV only

4 x LIV aréd

Question Number : 138 Question Id : 4387194938 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The hybridizations of carbon in graphite. diamond and Cgq are respectively

TR, E006, Cgp V8" 563D VeSOSOrTLD SEORMT
Options :

| % spo. Sp-. P

N N

2\?)!31).:':.1).51.)
5

5 % SP-SPT.sp

4 % SP sp. sp



Question Number : 139 Question Id : 4387194939 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The major product of the following reaction is

r\ﬂﬁr (i) Mg, dry ether
. (ii) D20

i

S0 WO[S° PR &Sy o

Ol/Br (i) Eﬁ“[é &:56
(il) DO ;

Options :

1%

e _.-'DD

(L

2.% >~ D

Question Number : 140 Question Id : 4387194940 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Identify the ortho and para directing groups towards aromatic electrophilic
substifution reactions from the following list

$od DT’ 8 Irds J0E LIS DAZHe Sleigely Hgﬁ, o DBz DAurSeorT
D B T (Hbothod

-OH -CN -CO,H -OCH; -NHCOCH; -CHO

I II 111 1A% V VI
Options :
¢ LIV.V

5 % ILIIL VI
_ LILIV

L V. V.V

Question Number : 141 Question Id : 4387194941 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Match List I with List I1

List I (defects)

A. Frenkel defects
B. Schottkey defects
C. Vacancy defects

D. Metal deficiency defects

20T [ D erder II & 200605050,

Do I (S Jrew)
A. 20865 5" e
B. &), &"Fren
C. 89 S° e

D. &° §68 &°Jew
Options :

A B C D
1. 4 4— 3

| ]
—

A B £ D

)3 2 4 1
A B D
s 1 2 3 4

List IT (Examples)
1. FeO

. NaCl

3. AgCl

[

4. Crystals with vacant lattice sites.

erdor I (&o°dronew)
1. FeO

2. NaCl

3. AgCl

4. a9 g rgf“mw (1) 5T



Question Number : 142 Question Id : 4387194942 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following solids 1s not a molecular solid?

Sod DuT " DB et 20JDEGo TVE?

Options :

2 % HO

Question Number : 143 Question Id : 4387194943 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A solution containing 6.0 g of urea 1s isotonic with a solution containing 10g of a
: o = = i
non-electrolytic solute X, The molar mass of X (in g mol™) is

6.0 go cbrdolr o grome, 10 g © IAG DTS TIde X AL Grdesed

28 Traree Godd. X arerd 35073 (g mol ! ©¢°)
Options :
| % 50.0

, o 100



Question Number : 144 Question Id : 4387194944 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

X % (w/v) solution of urea 1s 1sotonic with 4% (w/v) solution of a non-volatile solute
, : -1 :
of molar mass 120 g mol™. The value of x 15

X% (W/v) cordosre mradese. 4% (W/v) 2o°erd Q;‘.&g:r*%’ 120 g mol™ e 2. E:?E.F?’-:LQ%EJ

Td0 (0 THReS DU DS TrIme™ Sodd. X Dewd
Options :
Lv 2

Question Number : 145 Question Id : 4387194945 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

38.6 amperes of current is passed for 100 seconds through an aqueous CuSO,
solution using platinum electrodes. The mass of copper consumed from the solution
and volume of gas liberated at STP are respectively (molar mass of Cu = 63.54 ¢
mol ™).

FOJo G0 edArhod CuSOs 20 grdeo (APt 38.6 50500 Rlablfz SV
100 203D Few DHToDBHIINE. STP DG oo oG 3}3@@@@5 5706
@,ﬁéﬂ‘%’. 3)65.353&303_3?5 STP0500 D0 DoSIETL SR (Cu dorerd @5575'-.:!“%‘ =63.54 g

11101'1) .

Options :



Question Number : 146 Question Id : 4387194946 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The time required for completion of 93.75% of a first order reaction is X minutes.
The half life of it (in minutes) is

28 DO SATE WG| 93.75% Jrd THerdE x DT DHIW, & DO
9705009 (DIreed”)
Options :

1. % x/8

2 ® X -"II:
4

3. ¢ X

4 ® X I'I:B

Question Number : 147 Question Id : 4387194947 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The macromolecular colloids of the following are

I. Starch solution I1. Sulphur sol
ITI. Synthetic detergent IV. Synthetic rubber

S0 T35 exyIrS eocad Serond D ?
L 376~ gradeeo I 2046 ¢

III. S380 GeiBotd IV. 8,820 GE-JE)E
&

Options :

| x LIT

, % ILTI
, x OLIV

W LIV

Question Number : 148 Question Id : 4387194948 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A) :- Animal skins are colloidal in nature
Reason (R) :- Animal skin has positively charged particles.
QIyB0 (A) : 2080 BT LS ST ONE VTS0 Gotwod.
56620 (R) 1 2080 t96}085" D30 (10 SET Gotow.

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

% A 2080in R 00 Gocd 800D £udain A 0 R D80S DHdee



Both (A) and (R) are correct and (R) is not the correct explanation of (A)

- A 208030 R 20 B0 RT00AD. H0dadn A 0 R 2T0R DoHde seA.

(A) 1s correct but (R) is mcorrect

A DTG A R 200wHH 5760,
3. %

(A) 1s incorrect but (R) is correct

L% A DTS L T2 R DTS,

Question Number : 149 Question Id : 4387194949 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In the reaction of phosphorous with conc. HNOa. the oxidized and reduced products
respectively are

&aﬁﬁﬁ, e HNO; aﬁcﬁgﬁ.}’“ﬁ 38 8820 Wold), £0005080 Wolm %mﬁmaﬁsw HBHRNT

Options :
L H;POy4. NO,

, « HiP02.NO

3 % H;PO;. N,O

HPO;, NO
4. %

Question Number : 150 Question Id : 4387194950 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following i1s formed when SO3; 1s absorbed by concentrated H>SOg4

SO; ¢ HySO, 66°8 0T 28200206 §08 Tee’ D& D6 caduos?
Options :
|« H2$i0s

, 5 H$:03

3 H>S,0;

L% H,S,05

Question Number : 151 Question Id : 4387194951 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Transition metals and their complexes show catalyvtic activity.
Reason (R): The activation energy of a reaction is lowered by the catalyst.
AIydo (A) : DOSGD JrosTer BB T DD T a@;&s QT R0
A0, )
s*d0 (R) : &Efégdéo, WO OIS, &SRS 38 SRR
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

| % A 00010 R a0 Both RT0AD 08030 A 85 R DT Da0e.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).

5 » AS0Bai R e Bot RV0VAD 57 A 85 R 2800 RS0 ST,



(A) Is correct but (R) 15 mcorrect.

. ARTON/S 571 R 2T00/E 7.

(A) Is incorrect but (R) 1s correct.

, ARToHG 57 57 R 280008,

Question Number : 152 Question Id : 4387194952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The crystal filed theory is successtul in explaming which of the following?
I. Ligands as point charges: II. Formation and structures of complexes.

IIL. colour: IV. Magnetic properties: V. covalent character of metal-ligand bonding.

D08 ES STrodo Sod T63e5° DA TrrIHGL) DHGeed?

L Orrod 00 Dotd JE[EFDFT LI

II. Dogren 6 GEeo B0 I8 o7, FTen

III. Gorboed

IV. 90003708 G5T7) o0

V. &0 — Orrod woto Ga0E), (857 S0td) Rodirad RaTdo

Options :
L. IL. III only

| LILII Srgd

IL. II1. IV only
IT, I11, IV Srado
2. ¢



IIL. IV, V only
o ILIL IV argdo

II. IV. V only
IL IIT, IV Sorgdado

4, #

Question Number : 153 Question Id : 4387194953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Pernicious anenua 1s caused due to deficiency of which vitamin?
3 Des o By BETEES eanyy S0ob?

Options :
| ¢ BI2

2. Bl
3 % BO

4 = B2

Question Number : 154 Question Id : 4387194954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following vitamins cannot be stored in the body?
Bob DR’ L6 $8608° De dbatd?

Options :

L% A

2.v €



Question Number : 155 Question Id : 4387194955 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Finkelstein reaction is used for the synthesis of
SRESHS S65d TED SXrGHUMTOS TETE?
Options :

% RE

2‘JRI

3 % RCI

EBr

Question Number : 156 Question Id : 4387194956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following will have highest density?

o _E.
80b &S D28 w508 ol Suh?

Options :
ecly

1. %

n- C 3H —I
o

n-C3H-Br

3. %



4 % n-C3H-Cl

Question Number : 157 Question Id : 4387194957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product (Y) from the following reaction

(1) Mg/ dry ether (i) LiAIH, / ether

et
(i) CO5 / dry ether (i) H,O"

(i) HyO™

S0 BTS00 Aol E)dbé, DR éoiraewﬁéo Y &0 foBotsodt.

Sy D iemg e () LiAIH, / 255
Efj (i) COz .-’E:FLE lets] (i) HyO"
(i) H3O™
Options :
OH

N

L% NF
~._ _.COOH



Question Number : 158 Question Id : 4387194958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

An aryl carboxylic acid on treatment with sodium hydrogen carbonate liberates a
gaseous molecule. Identify the gas molecule liberated.

28 S 50308 i)y Fdabo FEED 56 DG & W) Dot Trosw

€920 DEIGL B0, DEIGL STRICR TTORD 2830 (Botod.?
Options :
H;

1. %

2. v CO2

s % CO

Question Number : 159 Question Id : 4387194959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product of the following reaction

od tﬁdéﬂfﬁsﬁ} D5 §03raT(D) MHBotsedt.

2 Zn-Hg
T
- HCI
OH

Options :



2. %
o C
O
=
L Cl

Question Number : 160 Question Id : 4387194960 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product of the following reaction
Sod tﬁﬁélﬁﬁ:} Feledy éojfaa“éﬁi foBotdac..

O

Bry+NaOH
F NH, -
L

Options :




,-""“-H.NHZ
NH-

/N

1. % Br
3.% Br

©/ NH2
4.



